EARAROBREBRT —5 XN—ZXBISH—F

2022648308 (£) 3EHEE?2H

QIEERED 754 FHBRMIE IS >E YS>R4RE B I R
[xE&] 1&:330,000H  23&:106,000 @  33#&:59,000  43%&:40,000H  53&:26,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
118l 9| 2E=F 15T B 7 %%@—EB 1:(3_3).0 2-2-2-1 |39.6| - 1 454 g%gé (1£23)
RFPFFURe—L B:AVIR RRE- =)
218ls F—E5— €Y 5 552718?75)\ 1:(33).9 4-4-3-3 | 40.1| — 2 470 ;EJ}\I%% (£%)
. 5 ) | HEEE—
Rib—tyYa—5Y B:AVFTTIFT« D i
3 3 NUIVFUAY tv 4 gg%%: 1:(3:3.6 6-6-4-4 | 40.3| — 3 451 %ﬁgﬁ (f£23)
RN=YI54 B:EFUY © FrIEF IR T7—1I
N, RIEEEN e b4 e 1( /3:;5 7-7-87 [39.9| — | 5 | 403 iﬁ%@il& (=5)
R:/ITURN B:LyRAUT47 (-4) =YY T 77—
55| 5| 29— 7F 5 4 5%&21_ 1(73?:)7 1-1-1-2 | 41.4| — 8 | 4m ﬁiig (t£23)
RIAX—RT 7)Y B AR—RNARL =1 MRS
6l1111VbLTZZZU— 5 éﬁ#ﬁ (11315/2(; 9-8-7-6 [40.2| — | 9 | 38 ﬁ(%:;é%?? P(Kjf%%ﬁ
RTPVIWRT Y N BHAYYTTFU— O g ws
= = it 4 | 2URS 1:35.3 8-9-9-9 |40.0| - 6 | 425 |BIEEZ (£E)
706 7T FLTA 4.0 (1172) @) | @ TIIVF
R:FAXF BIVRUVARU—=L2 BRI 7—L
8 NEEP2Y LA Tgﬁ%ﬁ 1:(315).5 3-3-5-5 | 415 — | 4 | 449 fﬁ%% (£=&)
R:STU—F4 F:TFSYUT 2 | me g—
~ ) =2 s 7 | WEEHE 1:35.6 5-5-6-8 | 41.4| — 7 | 432 |HIES (1K)
97|77 | NIAF7YTU=X \ A51.0 a7 1 |ABEET
R:RYU=LYv—=— H:vIHE2 #HE77—LA
@ 11— —‘@BIEfI
13—7+— 5,9,4,8,7,3,2,6,1
20—7F— 5,9.4,8,7,3,2,1,6
BEIESSES 5,9.8,3,4,7,1,2,6
43—F— 9,5,8,3,4,1,2,7,6
0 ILRE
BB 9 250 JA R 8-9 210 & 8-8 590M 3EE 3-8-9 3904
B B 9 110M9 3-9 2004 5B E 8-9 520 3EE 9-8-3 2,050
8 120MH 3-8 250 o= 9-8 870M4
3 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




